> S ALL BALLS MACING, NC
m'IE www.allballsracing.com

HARLEY DAVIDSON APPLICATION GUIDE BAL &)

BEARINGS & COMPONENTS y
WHEEL BEARING & SEAL KITS GENERATORS
MODEL YEARS AB# FRONT AB# REAR MODEL YEAR AB# HD#
FLH 1967-72 25-1366 25-1366 80-2001 new 12V 10A BLACK PRESTOLITE  54-84 XL 29975-65A/B 29978-77A
FLH 1973-84 25-1002 25-1002 80-2001 new 12V 10A BLACK PRESTOLITE ~ 58-69 BIG TWIN 29975-65A/B 29978-77A
FLT FLH 1982-99 25-1002 25-1002 80-2002 new 12V 10A CHROME PRESTOLITE  54-84 XL 29975-65A/B 29978-77A
FLT FLH 2000-07 25-1394 25-13%4 80-2002 new 12V 10A CHROME PRESTOLITE 58-69 BIG TWIN ~29975-65A/B 29978-77A
FLT FLH 2008 25-1571
FLT FLH 2009-14 25-1571 25-1405
FLT FLH W/ABS 2008-14 25-1691 25-1692 HIGH TORQUE STARTERS
SOFTAIL FLS FXS 1980-99 25-1002 25-1002
SOFTAIL FLS FXS 2000-06 25-1368 25-1368 PN# DESCRIPTION YEAR HD#
SOFTAIL FLS FXS 2007 25-1571 25-1368 1.4 KW
gggﬁ:t Etg %W/ABS gggg}j %g]g;} Sg]gg} 80-1001 1.4kW Black will not fit FLT FLH 1989-06* 31553-90
- - - dels when stock ch
SOFTAIL SPRINGER 2007 251368 251368 e Cci chrome cover
SOFTAIL SPRINGER 2008 25-1368 25-1571 80-1002 1 4kW Chrome 1989-06*  31553-04
FX, FXE 1971-72 25-1369 25-1366
FXD, FX, FXR 1973-99 25-1001 25-1002
FXWG, FXDWG 1980-99 25-1002 25-1002 1.7 KW
80-1003 1.7KW Black 1989-06*  31553-90
FXD DYNA ALL 2000-03 25-1368 25-1368 80-1004 1.7KW Chrome 1989-06*  31553-94
FXD DYNA ALL 2004-07 25-1394 25-1394
FXD DYNA ALL 2008-14 25-1571 25-1571
FXD DYNA ALL W/ABS 2008-14 25-1691 25-1691
1.4 KW 6 SPEED STARTERS
SPORTSTER, XL 1958-72 25-1369 25-1370 80-1013 1.4 kW Black 2007+** 31618-06
SPORTSTER, XL 1973-78 25-1001 25-1370 80-1014 1.4 kW Chrome 2007+** 31618-06A
SPORTSTER, XL 1979-99 25-1001 25-1002
SPORTSTER, XL 2000-04 25-1368 25-1368
SPORTSTER, XL 2005-07 25-1368 25-1394
' _ _ R 1.4 KW SPORTSTER/BUELL
SPORTSTER, XL 200814 251871 25157 80-1009 1.4KW Black 198114 31390-86
V-ROD 1" AXLE 2002-07 25-1394 95-1394 80-1010 1.4kW Chrome 1981-14 31390-91B
V-ROD 25MM AXLE 2008-14 25-1571 25-1571
V-Rod 25MM AXLE W/ABS 2008-14 25-1691 25-1691
USED IN CUSTOM WHEELS .75'x47x14 6204-2RS-3/4 1.4 KW HITACHI PRESTOLITE
USED IN CUSTOM WHEELS 1'X52X15 6205-2RS-IN 80-1005 Repl. Hitachi Black 10-24 1966-88 31570-73
mounting bolts
WHEEL BEARING KIT FINDER 80-1006 ﬁeopl:.ngrl]lgcbh(;lghl’ome 10-24 1966-88
PART KIT HD # BEARING  HD # SEAL 80-1007 m;i]lnirr]zsgg;}: Black 1/4-20 1966-88 31463-88T
TAPERED BEARING 3/4 1D W/ 0.3 THICK SEAL 25-1001 9052 47519-72 80-1008 Repl. Prestolite Chrome 1/4-20 1966-88
TAPERED BEARING 3/4 ID W 0.4 THICK SEAL 25-1002 9052 47519-83A mounting bolts
BALL BEARING 17mm ID W/ EXTENDED INNER RACE  25-1366 43577-67 *Except 2006 DYNA
WIDE BALL BEARING 3/4 1D 25-1368 9267 *Including 2006 DYNA
BALL BEARING 17mm ID 25-1369 9008-9009 41210-55
WIDE BALL BEARING 1” ID 25-1394 9247
FOUR BALL BEARINGS 25mm ID 25-1405*** 9276 STARTER COMPONENTS
***Bearing kit intended for non ABS models only CLUTCH DESCRIPTION YEAR HD#
79-2101 Clutch/Bearing 1991-06* 31663-90
BUELL WHEEL BEARING KITS 79-2103 Clutch/Bearing 1989-90 31544-90
MODEL YEAR FRONT WHEEL REAR WHEEL 79-2104 Clutch/Bearing/Pinion Gear 2007+ 31681-07
79-2109 Clutch 1967-80 XL 31443-65A
BEARING & SEAL KIT BEARING & SEAL KIT 65-88 BIG TWIN 31443-65A
BLAST 2000-09 25-1626 ** including 2006 DYNA
FIREBOLT XB9R 2003-06 25-1351 25-1627
LIGHTNING XB9S 2003-09 25-1351 25-1627
HELICON 1125 2008-09 25-1351 25-1627 SOLENOID REPAIR KITS
EKR‘%‘-B%TE CB1oR ;gg;gg gg]gg? 251627 79-1101 Solenoid Repair Kit 1989-06* Big Twin
- - - 1981-2014 Sportster/Buell
LIGHTNING X1 2000-02 25-1626 981-2014 Sportster/Bue
LIGHTNING XB12S 2005-09 25-1351 25-1627 79-1102 Solenoid Repair Kit 2007+** 71469-65/A/B/69
THUNDERBOLT 1999-01 25-1626 79-2108 Complete 4-Speed Solenoid 67-80 XL 65-88 FL/FX/Softail
INNER PRIMARY BEARING & SEAL KIT ™ including 2006 DYNA
MODEL YEAR AB# HD#
HARLEY DAVIDSON BIG TWIN STOCK REPLACEMENT 1985-07  25-3101 ONE PIECE JACKSHAFT KITS
HARLEY DAVIDSON BIG TWIN HP DOUBLE ROW BALL BEARING ~ 1990-06*  25-3102 79-2105 9-tooth (Larger gear) 1989-93 33126-90,93
(DESIGNED FOR USE ON STRAIGHT SPLINE SHAFTS ONLY) 79-2107 9-tooth Conversion requires 66 1994-06*
HARLEY DAVIDSON BIG TWIN STOCK REPLACEMENT 2008-12  25-3103 tooth ring gear
INNER PRIMARY MAINSHAFT SUPPORT BEARING R16-2RS 9061 9040 79-2106 10-tooth (Small gear) 1994-06* 33126-94

*Except 2006 DYNA

REPLACEMENT INNER PRIMARY COMPONENTS

MODEL SEAL PINION SEAL PINION SEAL MAIN SHAFT SNAP RING INNER RACE BEARING

25-3101 31-1101 (.625x1.125x25)  31-1102 (.750x1.125x.25) 30-5217 (32x52x7/8) 99-1098 (58x2) gty 2 40-2337 (25x32.1x25.4) 20-2037 (32x52x15
HD number 12066 12053 12052 60678-85 34091-06 9135

25-3102 30-5216 (25x52x8) 99-1098 (58x2) gty 1 20-1050

25-3103 N/A N/A 30-5217 (32x52x7/8) 99-1098 (58x2) gty 1 40-2430 (.975'x32.1x27.9) 20-2037 (32x52x15

HD number 12052A 60678-85 34091-08 9231



